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; 100kN/m%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 4.56 56.92 | =nS | 000 ~ 000 1.58 7.98 znLs 1.00 | .00 ~ 5.00 56.92 | #nLs | 5.00 ~ 500 1.68 7.98
2 100kN/mM%#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 7.40 94.40 | FhLS | 000 ~ 740 1.79 9.06 znLs 1.00 | .00 ~ 9.60 94.40 | =nLs | 5.00 ~ 9.60)1.79 9.06
3 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 1.79| 12750 |3mEBZB| — ~ — — — | 100kN/m%#BZ5% | 1.00 | 1097 ~ 1726 127.50 |3mEREZD -~ — — —
Fh s 100|179 ~ 958 100.00| ThLs | 000 ~ 958|254 12.86 Fh s 1.00 | 5.00 ~ 1097 100.00 | TN | 5,00 ~ 1726 | 2.54 12.86
4 100kN/ %4825 | 1.00 | 0.00 ~ 254 139.81 |3mZz#BRB| — ~ — — — | 100kN/mM%#BZ25% | 1.00 | 1063 ~ 21.26| 159.81 |3mEkEZD -~ — — —
Fh s 1.00| 254 ~ 1032 100.00 | FThLs | 000 ~ 1032|2.80 14.15 Fh s 1.00]5.00 ~ 1063 100.00 | TN | 5.00 ~ 2126 2.80 14.15
5 100kN/m%Z#8Z25 | 1.00 | 0.00 ~ 287 14587 |3mEBZB| 000 ~ 005|503 15.30 | 100kN/mM%E#EZ 5 | 1.00 | 10563 ~ 2522\ 14537 |3m&E#BZB| 2500 ~ 25.22| 5.03 15.30
Fh s 1.00| 287 ~ 1065 100.00| FThLS | 005 ~ 1065] 3.00 15.16 Fh s 1.00 ] 5.00 ~ 1053 100.00 | TN | 5.00 ~ 2500 | 3.00 15.16
P 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 1.96| 130.831 |3mEBZB| — ~ — — — | 100kN/mM%#BZ25% | 1.00 | 1062 ~ 1770 1530.31 |3mEREZD -~ — — —
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Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ Zh s ~ Zh s ~ ZhLs ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
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Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
ZnLs ~ ZThLS ~ ZnLs ~ ThLsh ~
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